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~Exercise

1 Use partial fractions to integrate the following:

x+5 b 3x-1 " 2x-6 d 3
2 G+ D(x+2) 2x+ D(x-2) x+3)(x-1) 2+x)(1-x)

2 Find the following integrals.
fz(x2+3x— 1) b fx3+2x-+2 . fv_x? ds d rx3+x+2 4

(x+1)(2x—l) x(x+1) 2.4 A N )
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a Given that f(x) = fﬁ + 1 —B2x’ find the value of the constants 4 and B.

b Hence find f f(x) dx, writing your answer as a single logarithm.

¢ Find fl 2f(x) dx, giving your answer in the form Ink where k is a rational constant.
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1 Find the area of the finite region R bounded by the curve with equation y = f(x), the x-axis and
~the lines x =g and x = b.

af(x)=]3x;a=0,b=1 b f(x)=secx;a= Ob—-73£ c f(x)=lnx;a=1,b=2
d f(x):secxtanx;a:ﬂ,b:% ¢ fx)=x/4 - 0,b=

2 Find the exact area of the finite region bounded by the curve y = f(x), the x-axis and the lines
x =a and x = b where:

4x -1 X
a f( Y=e————a=0bh=2 b f(x)=———=;a=0,b=2
Al (x+2)2x+1) ) (x+ 1)
[ f(x)=xs1nx;a=0,b=§ d f(x)=cosx\2sinx + l;a=0,b=%
e f(x)=xe*;a=0,b=In2
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Exercise 11G i
1 a Injx+1)Px+2)+c b Injx-2)2x+1|+c fxer“;illlu 7
a 2 b In2+.3) ¢ 2In2-1
. I(x+3)3l_'_t d ml2re, . d \2-1 e &
=) Tl . 2 a ]ng_ b ln3—§ c 1
2 a x+hnjx+1a2x-1|+c b ?+x+lnm+ d .2‘2:}_‘1 ef%(!_mz)
-2 (3+I)2 73 In4 B il
c x+ln‘x—+-2]+c d —x+ln|ﬁ’+c

3 2 A-2,B=2 bpmZrU.,. o3 sok=3
11 - 2x| 9" 9
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